CITY OF NEW BEDFORD

APPLICATION FOR LAYING BUILDING SEWER AND/OR DRAIN SERVICE

Application No.	19589 8-31-73 Date	?
To the Mayor and Ci	ty Council:	
	t that a building sewer and/or drain be laid for the premises at	
n.s. Oki	At 380 1 + C of abiley Bl	vd
to connect with the		
	sewer/drain ins in the street and the surface repaired as directed by the Commission	
	to pay at the office of the City Treasurer all cost of performing the a specified, in excess of the deposit made herewith, within 10 days after ork.	
to the payment of th	and agreed that the deposit made with this application shall be agree cost of performing the work done, and that any excess of deposit over d to me by the City Treasurer	oplied er the
Witness Nota	Campagail Stude D. To. 8	1
Witness government	Signature of Property Owner	f.h
Life bank the life	910 Stratler of Street	
	Address Telephone I	No.

	Plumber's Name	
Requires separate entrance		•••••
for roof water	Address	
	Permits to Industrial and/or Commercial Applicants:	
		/.
the Commissioner of	issued to industrial and/or commercial applicants only upon receif Public Works of such supplemental information as may be required quality and quantity of the proposed wastewater discharge.	pt by ed by
This information	n was submitted by	/
and an () and 1 har 41		/
and approved by th	e Commissioner of Public Works on	
_		
	Commissioner of Public Work	s
	Estimate and Deposit Requirement	
	Office of Commissioner of Public Works, 2-31-7	13
My estimate of	the cost of laying the building sewer and/or drain described in the	
application is #1	99.00	
Assessed Entrance charges	Total deposit required 9/99.00)
	Commissioner of Public Work	cow to
	Certificate of Issue	
	Office of City Clerk, 8-31-73	
The above ap	plication, accompanied by City Treasurer's receipt presented this	day;
	No. 1958 9 was issued, and the Commissioner of Public V	
notified of the same		
	Ellen M. Haugh	k
Laid from main in stree		

20

	NOTICE TO COMMISSIONER OF PUBLIC WORKS	3
	Length of service 28 Delled 10(3/73 D	
	Sewer depth	
	Surf. drain Contractor's Name	
	(if working on City Property)	
	City of New Bedford,	
	Drain Permit Nº 19589 Office of D. P. W., 8-31-73	
	Date	
	To Commissioner of Public Works.	
	Permission has this day been issued to	
	Host I call 910 Stratford St	
	Signature of Property Owner Address	
	By Islando St. Freits	
	Address	
	to lay a building sewer/drain service from the premises at 2000	
	380' + C of askly Blue	
	to connect with the sewer/drain in street.	
	Laid from main in street to property line.	
. 1/	Owner agrees to supply all necessary materials By	
Care	and	
A STORY	Requires separate entrance for sewage and roof water entire	,
INDIANI	Ar- un nideun et) renni - rivalte de la la credans. K	

(Roll #37) RETURN OF FOREMAN

	O .				
	Entered Sept. 10	19 73			
Time 4. P. M.					
	By Lase My Yours				
	COST				
	Labor hours @	/			
J	ressp Tomes 7 " 4.08	28.56 Y			
No	wheat ST. Riesso 7 " 3.36	23.52			
Jo	e Ferriera 7 " 3.47	24.29			
Jo.	e Bolonger 7 " 3.24	22.68/			
T	om Burke 7 " 3.58	25.06			
J	00 Macodo 7 " 3.76	26.32			
100	Oliver, D 1 " 3.97	3.97			
0	Stock Stock 3.47	157 87			
	2 bag Comest @ 205	1-03			
1	00/65 Sand @	29			
3- pain	- 12 x 3 B.T. & [net@ 2,85"+5"	39.20			
1 (2)4	xygrono Speres. Wall3/13/2	320			
Shon	1- 1-HR DONOTTON	<u> </u>			
	Trucking				
ordson	+35-3-ARS-@6.55-	19.65			
Tr	k1/6-1-HR/@3.00-	3.00			
2 Com	p.52-1-HR @3.35-	3.35			
2	Total Cost	2,56.39			
30	Estimate-cost of laying drain 199 -				
01-3	Entrance charges				
20	Total deposit				
4	Balance due	57139			
3	12) 1-1xlt	1-271			
1	Pieces pipe to curb	t b co			
0	" " curb to house 1 - 10 f	frees			
	Cut at sewer 7 3 1				
Cut at curb 7 11					
Size of pipe 4 " + 6 "T von s. To					
	Correct				
	Lose m Jovos				
	Love My Javas	Former			
		Foreman			